= a
N = 0l & AF & F Al A
2010EE =Y 3 5] LBts|H 2ACER ~ 2AASS
2A: 2AQRE
M UWHS PP (2ACEH)

ool lee gyl (Etel: &8
SN FB - S2A(3) - MEAY - BES 0 &t o4 o1 o HRE2
2202 5,330,584 5,493,951 163,367

= 821,121 824,065 A2,944
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= 821,121 824,065 ~2,944
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= 2,869 2,869 0
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0.8 (W!BHY)  1,000,0002 30! 128 36,000 0 36,000
OZ=22o NEBS H2 181,200 0 181,200

0.8 (WUBHY) 700,0002 «791 %122 58,800 0 58,800
0.2BHO(HSB1Y) 6000008 1791 +128 122,400 0 122,400

Smo| BACEHHIA KB 1,293,490 1,384,490 £91,000
p 542,500 633,500 A91,000

= 369 369 0

T 750,621 750,621 0

SSARHAZTXH 2| 540,000 631,000 £91,000
g 540,000 631,000 A91,000




SN
X XH .
S Tt

el

2N -3 - c2(3H) - NEME - HES ALl J &= Hns
101 01244 159,000 250,000 291,000
9] 159,000 250,000 91,000
04 JIZHM22NEL S 159,000 250,000 91,000
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= 25,494 25,494 0
2 107,414 107,413 1
201224 ALY 50,776 50,776 0
Il 25,388 25,389 AT
= 12,694 12,694 0
2 12,694 12,693 1
101 o124t 19,664 21,100 1,436
9] 9,832 10,550 AT18
= 4,916 5,275 359
2 4,916 5,275 A359
04 JIAH22REL~ 19,664 21,100 1,436
O3 A AL Q124 Y] 18,000,0002 18,000 19,500 1,500
p] 9,000 9,750 AT50
= 4,500 4,875 375
2 4,500 4,875 A3T75
OZASAI 4LHEEZ 1,664,000 1,664 1,600 64
9] 832 800 32
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2 416 400 16
301 LErE AR 2,674 1,238 1,436
Il 1,337 620 717
= 668 309 359
2 669 309 360
12 JIEtE A 2,674 1,238 1,436
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p] 1,337 620 717
= 668 309 359
2 669 309 360
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= 8,497 9,708 A1,211
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01 SlEYREH| 33,990 33,832 14,842
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g 9,486 10,486 A1,000
= 4,743 5,243 A500
2 4,743 5,243 A500
OIZ4+HAIS X (26%) 10,014,000 10,014 12,856 12,842
g 5,007 6,428 A 1,421
= 2,503 3,214 AT
2 2,504 3,214 AT10
SO U YA LB A Y 21,516 23,986 £2,470
g 10,758 11,993 ~1,235
3 5,380 5,997 ~B17
T 5,378 5,996 ~618
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OO0I20H ¢4 &4 01 44012 2 HI (14F)
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= 14,022 16,856 A2,834
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= 1,753 2,107 A 354
SAALESH 148,750 191,850 A43,100
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HAZHAAS 84,709 84,709 0
J| 42,355 42,355 0
== 21,177 21,177 0
= 21,177 21,177 0
ol 24| 21,164 19,500 1,664
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04 JI2ZtMZ22XSE 21,164 19,500 1,664
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= 4,916 4,500 416
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= 179 179 0
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J| 71,750 71,750 0
= 36,575 34,575 2,000




SN
X XH .
S Tt

el

SNBSS - MBAY - BES 0 & 24 pJE-T {imE=Eh
= 61,988 61,988 0
LR XIEEALS 145,500 143,500 2,000
Il 71,750 71,750 0
S 36,575 34,575 2,000
= 37,175 37,175 0
201 LEH2HH| 2,000 0 2,000
< 2,000 0 2,000
01 AtR2teld] 2,000 0 2,000
Onzd ELXZEANY 82 2,000,000& 2,000 0 2,000
S 2,000 0 2,000
dggdotddE e 22,730 24,230 A 1,500
Il 6,750 7,500 AT50
= 15,980 16,730 AT750
=t Z S0 1,500 3,000 A 1,500
Jl 750 1,500 AT750
= 750 1,500 AT750
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Il 750 0 750
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Il 0 1,500 A 1,500
= 0 1,500 A 1,500
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Il 0 1,500 A 1,500
= 0 1,500 A 1,500
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= 2,500 2,500 0
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= 112,105 114,655 A2,550
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= 20,000 20,000 0
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= 3,495 5,300 A 1,805

= 3,495 5,300 A 1,805
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= 3,495 3,200 295
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= 0 2,100 A2,100

Bt oyl 9,010 5,400 3,610
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= 43,500 43,500 0
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PIEEEP=T=PN 29,500 37,000 A7,500
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g 13,500 16,500 3,000
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Il 5,618 5,000 618
i 5,618 5,000 618
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g) 1,236,000& 1,236 5,000 A3,764
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| 0 1,500 21,500
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OZZOHEAX JIEE 2 (XY 2A15)
5,000, 000& 5,000 2,000 3,000
Il 2,500 1,000 1,500
i 2,500 1,000 1,500
OZz N =gkt 7188 72 5,000, 000& 5,000 0 5,000
Il 2,500 0 2,500
= 2,500 0 2,500
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= 9,882 2,500 7,382
01 eI2¥d 1=l 19,764 5,000 14,764
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| 7,500 2,500 5,000
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